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- McDougall’s “Escape route of rats” experiment
SUpports -
(1) Neo-Lamarckism  (2) Lamarckism

(3) Neo-Darwinism  (4) Darwinism

(8) Question not attempted

- Formation of interfascicular cambium and cork
cambium from fully differentiated Parenchyma
cells, is an example of -

(1) Dedifferentiation  (2) Regeneration

(3) Redifferentiation  (4) Capacitation.

{5) Question not attempted

- Which soil water is available for plants to use?
(1) Gravitational water

(2} Hygroscopic water

(3) Capillary water

(#) Chemically bound water

(5) Question not attempted -

- The oxygen acceptor in Photorespiration is -

(1) Ribulose 1, 5-bisphosphate

(2) Leghaemoglobin

(3} Oxaloacetic acid

(4) Phospho-enol Pyruvate

(5) Question not attempted

- What does Elaioplasts store in plant cells?
(2) Oil and fats
(4) Starch

() Question not attempted

(1) Nucleic acids
(3) Proteins

- Which of the following statement is correct with

reference to Enzymes? )

(1) Isomerases catalyse linking together of two
compounds.

(2) Zinc is co-factor for peroxidase and catalase,

(3) Catalytic activity is lost if the co-factor is
removed from the enzyme.

(4_) Enzyme carboxypeptidase catalyse the X
breakdown of hydrogen peroxide to water 3_

and oxygen.
(5) Question not attempted

- AEHGIA BT i@a‘%waﬂw IRRT e

BT B —

(1) To—Smatae B (2) SrEaTE B
@) Tg—<iffqag &1 (4) sifdaE @1
8) srgxie v

-wﬁ#ﬁawﬁ&mﬁmﬁw

DRGTH T P DRI T 0T SEEl
&

(1) fffReT 31
(8) qeffeT W
(5) srpaiRar we

() gTog9aH. &1
(4) Frga @1

-aﬁwaa—mawmﬁv%gmm

a7

(1) o 5id »
(2) e Wa

@) dRE 5

(4) ~9g: 9g Wi

(5) argailRa e

- B TGO # AR I gar & —

(1) jISgal 1, 5-fawide
(2) TEErAeT

3) sifeurdRifes e

(4) BiEETT T

(5) srgaiRa v

- Uy HIPERT § SO 97 9Rg o

87

() faed e
@) W=

(5) srIRa WA

@ 37 iR TEn
4 <t

- B H 9 vadl @ aed § e oo wEl

27

(1) sngsirves &1 Afel & o § ged @)
SARG TR 21

(2) ST WHRISS 7 HEANT T WEBRF B |

(3) TozH 9§ IR IEBRG B AR IR (24
SR, mmmmwa
RN B

(4) TS PRHICIESY, SRS RiFaEe
a%ana@maaa#ﬁ@waﬁm
BT B |

(5) srgaia wew

-

44-01

Page 2 of 32




7. From the given features how many are
associated with facilitated diffasion?
(i) Uphill transport
Gi) ATP deperident
(iii) Highly seleetive
(iv)
(v)
(vi)

Require membrane protein
‘Sensitive’ to Inhibitor
Along concentration gradient
M4 (2 5

33 (4)2

(8) Question not attempted

8. Consider the given statements and choose the
correct answer -

Assertion (A) - Secondary immune response is-

quicker and highly intensified
than
Tesponse.

primary immune

Reason (R)- Our body appears to have

memory of the first encounter.

(1) (A) is correct but (R) is not correct

(2) (A) is not correct but (R) is correct,

{3) Both (A) and (R) are correct but (R) is not the
correct explanation of (A)

(4) Both (A) and (R) are correct and (R) is the
correct explanation of (A)

(8) Question not attempted

9. Which of the following statement is correct in

reference to the Allosteric ehzymes? ,

(1) A rectangular hyperbdla is obtained when a
graph of Vo is plotted: against substrate
concentration. '

(2) There is a common regulatory site for all the
sibunits of an allosteric enzyme.

(3) They do mnot
Kinetics.

obey Michaelis-Menten

(4) Always consists of one protein subunit.
(5) Question not attempted
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10. Which of the following statement is correct?

1.

12

13.

14,

() In an Aquatic ecosystem, Detritus Food
Chain is the major conduit for energy flow, .

(2) The “Staniding Crop” is measured as the niass.
of living organisms or the number in a unit

area.

(3) Each trophic level has a certain mass of living
material at a particular time called as: the
“Standing State™.

(4) In a Terrestrial ecosystem, a much larger
fraction of energy flows through the Grazing
Food Chain than through the Detritus Food
Chain.

(8) Question not attempted

Select the incorrect statement -

{1) Imbricate aestivation is the characteristic of
bean flowers.

(2) The placentation in tomato is an axile type.

(3) In racemose inflorescence flowers are borne
in acropetal succession.

(4) Citrus has polyadelphous stamens.

(8) Question not attempted

Which protein in blood plasma is responsible for

Osmotic Balance?

(1) Albumin

(3} Fibrinogen

(2) Globulin

{4} Troponin

(8) Question not attempted

In a healthy adult human glomerular filtration
rate is -

(1) 1,80,000 m/Day

(2) 1.80 litre/Day

(3) 1800 litre/Day

(4) 18,000 ml/Day

(8) Question not attempted
Which one of these animals have three
chambered heart?

(1) Hyla (2) Rattus .

(3) Psittacula (4) Hippocampus

(5) Question not attempted '

10,

11.

12

13.

14.
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15. Which of the following is the correct sequence  15- 7/ # & I Y17 fomtor & wesRll @
of events leading to formation of sperm? LR,

(1) Spermatogonia — spermatozoa — primary -
spermatocyte — secondary spermatocyte - (1) IS — LTy — TS F PIRIHT
-spermatid - s I SR — YHE

2 Spermatogonia — primary spermatocyte — (2) gprogeT — TRt O PR -
spermatid — ‘secondary spermatocyte — .
spermatozoa ' Tl — faeiad g PR > Fh1Y

(3) Spermatogonia — primary spermatocyte — (3) S[EBToT, —>. WrIfAE Ih PIw — Bde
secondary spermatocyte — spermatozoa — ;
spermaatz ’ ' ’ R Eﬁﬁm A |

(4) Spermatogonia —» primary spermatocyte — (4) BTG — WIS b FHIPT — ferciers
secondary spermatocyte —  spermatid — T BIRSI — LHOIT — T
spermatozoa

(5) Question not attempted (5) Srgaia ¥

16. Which of the following is not a part of Innate  16. Fep=ifeiRad i & B wrweromTa e o1 faear

Immunity? el 87

(1} Interferons (1) e

(2) Polymorpho-nuclear leukocytes (2) IEEI-DaD T

(3) Acid in the stomach (3) e ¥ 3k

@DigG @ IgG

{5) Question not attempted (5) JrgaiRa oe T

17. Which of the following statement/s is/are true for ~ 17: =1 4 I B /B T fkigs @ [T

Viroids? w8 /87

(1) It has low molecular weight RNA as genetic (1) s onaifies werf @ HYER 9w
material. JRTAY. BT B

(2) It was discovered by Beijerinck and is (2) g YoiRFe gIRT @IS TR o Ten I faum]
smaller than virus.  BieT 2T 2

(3} It lacks protein coat. (3) 3o WiE Smawer Sguferd BT B

{4) Both (1) and (3) @ ()9 (3) &=

(5) Question not attempted ] E RO JPRIRG U

18. In Human Pedigree analysis symbol [0 "18. g gundell foveme ¥y (B0 Meud
represents - g —

(1) Mother with female child (1) 91a1 & |7 AGT T%l

(2) Father with male child (2) focm & AwRI ] g2

(3) Mating between relatives (3) qdfral #§ g

(4) Mating between non-relatives 4) fe—<sRat § gHrITH

(5) Question not attempted (5) rgaIRe W
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18. Which statement is wrong for Krebs-cycle? 19. 559 9% & o T FoF TEq 7
(1) There is one point in the cycle where FAD is () 39 =% 4 & {495 9 FAD &1 FADH, #
reduced to FADH» I B © |
(2) There are three points in the cycle where @ g\q - q g;g_?aﬁ T¢ NAD* @1 NADH,
Ny ST
o EAD is reduced. to NAfDHz, ‘ @) T P
uring conversion of succinyl CoA to RIS & Ok SIS S T
succinic acid, a ‘molecule of GTP is TR B 2 '
synthesized. (4) 39 TF BT IRE RIS PITT—T B
(4) The cycle starts'with condensation of Acetyl UISelis e B W Hul Sow Rilgs
- CoA with Pyruvic acid to form Citric acid. I I ¥ BT B
(5} Question not attempted (5) ‘rgaiRa W .
20. Who first described a live cell? 20. weueH SfaT BIRT &1 9of frae fran?
(1) Theodor Schwann (1) REreR w&s
(2) Robert Brown (2) e FreT
(3) Robert Hooke (3) ¥ 5B ,
(4) Anton Von Leeuwenhoek (4) TF 9 ARl
(5) Question not attempted - (5) SRR U=
21- The Grazing Food Chain (GFC) begins with 21 =IRST @Ie $@eT Souled & WRY o1y & Tafs
Autqt_rophs. whe:reas the Detritus Food Chain HWRE e Sl YRS Br & —
EBFCCI:?e[:l:fglt)spZ;mw (2) Saprotrophs w 5 | @ mﬁﬁ
(3) Herbivores (4) Dead organic matter @) Al @) |l
(5) Question not attempted (5) AT T
22. Which Plant Growthi Regulator (PGR) isused to 22 BT q1eq gfE Fame FifecT ufipar &1 9w
fasten malting process? BT B
(1) GA; () GA; (1) Sy (2) 5fig,
(3) GA4 {4) GA; (3) Sfig, (4) Sy,
(5} Question not attempted (5) argiRa wes
23. Based on the results of Dihybrid Cross, Mendel ~ 23. fEdex avor 3 TRom P IR W, Fod 7
proposed which of the following Laws? Frefefaa 4 & s o sl fear
- (1) Law of Segregation (1) frdaer &1 Fam
(2)' Law of Dominance (2) wifar o1 fFram
(3) Law of Co-Dominance  (3) TE—yHifaam @1 e
(4) Law of Independent Assortment (4) = ugET &1 FeE
(5) Question not attempted (8) SR e
24. What percentage of the earth’s land area do 24 g fifder TR (Sewfe) gedl BT Ba g
biodiversity hotspots cover? 8w BT fpawm wfiera 9rr smesTRy we 27
(1) More than 3% but less than 4% (1) 3% % e o= 4% @ P4
(2) More than 2% but less than 3% . ;ﬁ @) 2% 9 T T 3% 9 B4
(3) More than 1% but less than 2% - @) 1% 9 A% Uy 2% W F9
(4) Less than 1% @) 1% 9 59
(5) Question not attempted _ (5) s w=A
44 - D Page 6 of 32




25. Match the Column-I with correct statement of 25
Column- -
Column-I
(A) Golgi-apparatus
(B) Lysosome
(C) _ Smooth Endoplasmic Reticulum
(D) Ribosome
Column-IT
(i) Synthesis of Proteins
(ii) Synthesis of steroid hormones
(iii) Formation of glycolipids and glycoproteins
(iv) Digesting Protein, Carbohydrate,. L1p1ds
and Nucleic-acids
Choose the right from the options given below -
(1) (A, (B)-ii, (C)-iv, (D)-tii
(2) (A)-iii, (B)-iv, (C)-ii, (D)
(3) (A)-iii, (B)-ii, (C)-iv, (D)
(4 (A)-iv, (B)-iii, (C)-, (D)-ii
(5) Question not attempted

26. T cleavage - 26.

(1) early divisions are irregular, later divisions

are regular.

(2) early divisions are regular, later divisions are

irregular.

(3) all divisions are irregular. ‘

(8) all divisions are regular. . [ﬁn o

(5) Question not attempted

27. Consider the Pathogens and Diseases — 27.

Pathogens . Diseases

(A) Prion (i) Potato spindle tuber

(B) Virus (ii) Mumps

(C) Viroid (iii) BSE

(D) Bacteria @iv) T.B.

Which option is matched correctly?
(1) (A)-iii, (B)-ii, (C)-iv, (D)

(2) (A), (B)-ii, (C)-iv, (D)-iii

(3) (A)-iii, (B)-ii, (C)-i, (D)-iv

(® (A)-iv, (B)-iii, (C)-ii, (D)-1

(8) Question not attempted

Pl § oloE-Il & FE HoFl o A
BT —
Bie™-I
(A) Tifesll SUBROT
(B) <msEEM
(€) et sravmadl Sufora
(D) IgarE
wred-IT
@) WEN Gy
() TGS THM $T HLTE
(i) TSPIIIS T TAGBIUET BT 70T

(iv) WEH, PEBESE, ﬁfﬁf@ﬂ'-‘qﬁﬂiﬁ Tl

BT TET

T e § 9 98 &1 9uT PiE —
(1) (A, (B)-ii, (C)-iv,. (D)-iii

(2) (A)-iii, (B)-iv, (C)-ii, (D)

@) (A)-iti, (B)-ii, (C)-iv, (D)

(4) (A)-iv, (B)-ifi, (C)-, (D)-ii

(6) IgaIRT UeH

fagem # —

(1) ol forrer S ik 91e @ Fafd
BB ,

(2) Froarelt e e ik are & sifafa
BRI B |

(3) v e s B g1

@) T for Frafa g §)

() srpeiRa we

RNTHRE SR W W ﬁ%n'\f HIfoY —

~RTPRED W7

(A) il (i) ae] Ruse ®g
_ (B) IRRE (if) TergaT

(©) fRiss (iii) Su9 s,

(D) SR (iv) S,

s fawer gifed &7

(1) (A)Miii, (B)-i, (C)-iv, (D)-i
(@) (A, (B)-ii, (C)-iv, (D)-iii
(3) (A)ii, (B)-it, (C)-i, (D)-iv
{®) (A)-iv, (B)-iii, (C)-ii, (D)

(5) 3FEIRE 9
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28. Which statement is ot true about the nerve cord 28 HiSeq & TST ™9 @ IR # 1 § 9§ B
in chordates? ‘ BT HY 8 87
(1) Tt is located dorsal to the Notochord. (1) 7€ goavs & g1 WRT # Rerg eem 21
(2) 1t is ganglionated. = (2) € Rowma BmT T
(3) It is hollow. Eﬁ (3) T8 Grga BT & |
(4} It is located outside the Coelom. ’ 4) I wEye & I} Rerg B 2
(5) Question not attempted (5) ergaiRa we
29. Which of the following plant groups contribute 29 &% & ¥ ¥\¥=1 Uy T YAl W gF Bled
50% of the total Carbon-dioxide fixation on the SIS ReRIGRT ¥ 50%- 3T gNle™ a1
Earth? & '
(1) Pteridophytes (2) Angiosperms (1) SRSwIged (2) Frrgerdistt
(3) Algae (4) Gymnosperms (3) ey (4) =i
(S} Question not attempted (5) STIRT U=
30. Which of these is not a part of bile? 30. 57 9§ B T o1 9T 8 27
(1) Cholesterol {2 Phospholipids (1) Pl (2) Bipifrs
(3) Bilirubin (4) Lipase (3) fafersfaT ORCIE T
(8) Question not attempted (5) erqaiRa ue
31. Identify A, B and C in diagram — 3t. 27 3 A, B 3R C &) yg=nfig —
s 8 IR
o c
A
(1) A =Xylem, B = Cambium, C = Phloem (1) A =1ger, B = $fagW, C = Faligq
(2) A =Xylem, B = Phloem, C = Cambium (2) A =515e™, B = YaliwH, C = Sy
. {3) A =Phloem, B = Xylem, C = Cambium (3) A =7dIgH, B = I5a, C = Siaam
(4) A = Phloem, B = Cambium, C = Xylem (4) A =9qIgH, B = B9, C = Srged
(5) Question not attempted (5) aﬂﬁﬁﬁ LS
32. Which DNA sequence cannot be a Palindrome 32 @i=4r ST IHd e dfemem e
Restriction Site? RIS & B BT 87
(1) 3'GAATTC 5’ (2) 3'AATATT 5’ (1) 3'GAATTC 5" (2) 3’ AATATT 5'
5'CTTAAG 3’ 5'TTATAA 3’ 5'CTTAAG 3’ 5'TTATAA 3’
(3) 3’CTCAAT 5' 4) 3'AAGCTT 5' (3) 3’CTCAAT 5’ (4) 3’ AAGCTT 5’
5'GAGTTA 3’ 5'TTCGAA 3’ 5'GAGTTA 3’ 5'TTCGAA 3’
(5) Question not attempted , (5) SIG u=
33. The two key concepts of Darwinian Theory of 33 SIf7 & RoMare & Rigid o = EERC]
Evolution are - WHeqg & —
(1) Use and disuse of organs (1) i & SUIRT Td SRR
(2) Branching descent and natural selection (2) wIrETeg STeRIE SR wIpfa® v
(3) Catastrophe and saltation (3) faedw ol wdfeesm
{4) Sudden and large changes (4) P SR g8 Rad=
(5) Question not attempted (5) argRIRE vz
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34. Consider the Assertion (A) and Reason (R) and 3% atRi&o (A) T BRI (R) W fam #ifsm 3
select the correct option — & e &7 T B — B
Assertion (A) - During  gel electrophoresis AR (A) - O SeEBURIT ¥ DNA 31

];i?e molecule move towards e o 3% T a1
Reason (R)- The DNA  molecule is pTRUT (R) - DNA 317 ST ST SRR
negafively charged. €% -
Code - (1) (A) 7Terd & frg (R) T ©
(1) (A) is incorrect but (R) is correct (2) (A) T (R) 21 W@l 2 foeg (R),(A) BT el
(2) Both (A) and (R) are correct but (R) is not the " BT TS &
correct reason of (A) , @) (A) TF (R) IR T & &R (R),(A) BT &
(3). Both (A) and (R) are correct and (R) is the
‘ PRI B
correct reason of (A)
(4) (A) is correct but (R) is incorrect (4,) (A) T & g (R) e &
{5) Question not attempted (5) SR 9=
35. Extraction of DNA bands from cutout of gel 35 St Reauee § o $7 N T o
pieces in gel-electrophoresis. is known as - & gPSl W ST dgd o7 Fpor e
g —
(1) Replication (2) Elocution
(3) Diluti (4) Eluti () whgf ¢ ) @ gan
Dilution ution (3) TOT (STgeEF) () eferT (TwIE)
(5) Question not attempted (5) srpiRa T ‘

36. Caleulate the solubility product of AgzSOs, ifits 36+ AgaSOs @ [EEECUEIG TS I I S
solubility is 2.5x10?molL"! at room temperature. BIvY, AT T AW W g forera
(1) 6.25x10" (2) 12.5%10* 2.5+10%moll 1 &1

LK DX
(@) 15.625x10° (#) 62.5+10° @ 625-10° @ 12540
& o > > (3) 15.625x10° 4) 62.5%10°
Question not attempted ®) Sa—
37. The process which is not an endothermic in  37- 98 WH9 I SR YPh &7 76 & -
?;mre Is - . - (1) Na(g) — Na*(g) + & (2 Ar(g) +& — Ar(g)
Na(g) — Na*(g) +¢" (2 Ax(g) +&"— Ar'(g)
: @) H{gy+e —H @O(g)+e— 0%
@ Hg) +e —Hlg @O0(@+e— 0% (g +e — Hile) (8) +e'— 0%(e)
(5) Question not attempted (5) STFRIReT 31

38. The set representing the correct order of ionic 38. qrufE Ol & wd B9 B uERa
radii is - qrell T § — '
(1) Na* > Li* > Mg** > Ga®* > AI** %EE (1) Na* > Li* > Mg?* > Ga* > AP
(2) Na* > Mg* > AI** > Li* > Ga™ 2 (2) Nat > Mg?* > AP* > Li* > Ga™
(3) AP** > Mg?* > Na* > Ga** > Li* (3) AP* > Mg?* >Na* > Ga* > Lit
(4) Na* > Li* > Mg?* > AP* > Ga®* (4) Na* > Li* > Mg™ > AP 3 Ga*
(5) Question not attempted (5) TR wE
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30.

39. The correct decreasing. order of the first &g ot & gl Y uod amaee TR @
ionization enthalpy of 2™ period elements is - el IARIE P9 & —
() Ne>F>N>0>C>Be>B>Li (N Ne>F>N>0>C>Be>B>Li
@ Li>B>Be>C>0>N>F>Ne (D Li>B>Be>C>0>N>F>Ne
@B Ne>F>0>N>C>B>Be>Li (B) Ne>F>0>N>C>B>Be>Li
(4 Ne>N>Be>F>Q>C>B>Lj () Ne>N>Be>F>0>C>B>Li
(5) Question not attempted n {5) araRe e

40. How much carbon dioxide is produced when  40. 3.42 g GPN (CeHpOn) & 311T=RﬁGFr El"fl
3.42g of sucrose (C12H2,011) is completely burnt SuRefl § gof wEM W fea @iew
in oxygen? SigsiiqaIss S Bl 82
(1 440g (2) 0.44 g (1440 ¢ () 044 g
(3) 528.0 g @528¢ (3) 5280 ¢ 9 528¢g
(5) Question not attempted (5) sraRa W

4. ‘What will be the wavelength of a ball of mass 41 1 kg GeHM 3T 1msiaT § TR T L&Y
kg moving with a velocity of 1ms!? e &) aerdedt o1 2Rh? (h=6.626x10*Is)
(r=6.62610"35) (1) 6.626x10°% @ 662610%m
(1) 6.626x10%m  (2) 6.626x10%m OO 0020 m
(3 1326x10%m  (4) 1038x10%m @1326:10%m ) 1038107 m
(S} Question not attempted (5) e o

42. Calculate the pH of M/200 Ca(OH); - 42. M/200 Ca(OH), & pH #1 o &I —
M9 ) 12 Mo 2) 12
3) 10 @) 7 (3} 10 @7
{5) Question not attempted * (8) sIRe w=A

43- A compound contains 4.07% hydrogen, 24.27%  43. T d\frw ¥ 4.07% BISRINH, 24.27% amrsh AR
carbo:; and 71.65% chlorine. Tis empmcal 71.65% T & | gaPHT IR 9T § —
formula is -
(1) CLHACly @) CCLH (1) C;HACl, - ) cCiLH
(3) CHCly @) CHoCI ) CaHCl, @) CH,Cl
{5) Question not attempted (3) aﬁﬁﬁﬁ RS

44. Among the following select the electrophile - 4. FerfiRea 3 I goleeed 3T = PR ~
(1) CH; - NH, (2} BF; (1) CH; - NH, (2) BF;
®) cH—0—H @ HG: ® cH—C—H @R
(5) Question not attempted ) SR =

45..In which of the following compounds iron has ~ 45- fr=ifaReg diftar § foedt smw
lowest oxidation number? HATRITBROT T =T 87
(M K3 [FE(CN)g] (1) K3 [Fe(CN)s]
(2) [Fe(CO)s] (2) [Fe(CO)s]
(3) FeSO04.(NHy)2 SO4.6H20 " ﬁd‘f 1 (3 FeSO.(NHa) SO46H;0
(4) Ks [Fe(CN)e] Bl @) K4 [Fe(CN)g]
(6) Question not attempted ' (5) rf<IRT oA
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46.

47.

48,

The number of radial nodes for 3p orbital is -
(12 (2 4.

@)1 @3

(5) Question not attempted

The suitable” method used to separate different
components of crude oil in petroleum industry
is -

(1) Distillation under reduced pressure

(2) Simple distillation '

(3) Steam distillation

(4) Fractional distillation

(5) Question not attempted

Product [X] in the above reaction is -
(1) Hexachlorobenzene (2) Chlorobenzene
{3) BHC (4) Benzyl chloride

uv
—> M
500K

* (5) Question not attempted

49,
" decreasing order of stability —

Arrange the following carbocations in their

ajepes

46.

47.

48.

. 49,

22

(1 2

3p Herp ¥ o Bedi A 8i? !
2 4

31 @3

(5) sr=iRe W

TSI SO § el dd @ [ Teel 3
ToF B B Suga Ol § -

) =1 S R A

(2) IrEIROT A+

(3) 91U I
{8) warelY ST
(5) IR U
@ paon - s
500K
IR T § swe [X]8 —
(1) e (2) FARISSE
(3) Sig= L @) RTINS
(5) srfaiRa o

& U 9 | 2o Bivw —

D g

(1) A>C>B (2 C>B>A (HA>C>B () C>B>A
@) C>A>B @B>A>C (3 C>A>B @B>A>C
(5) Question not attempted (5) IrgaIiRe wee

50. One miole of PCls is heated in a closed container ~ 50- 25°C W U& wiiex &l a1l 48 U ¥ Ueb Hiel
of 1L capacity at 25°C. At equilibrium 20% PCls PCls @l 74 foram ST & | ARITaRel W 20%
is not dissociated, What will be the value of PCls fEifog == 21 §1 9 dUsd W
equilibrium constant (Kc) at this temperature? e Renie (K.) 6T A &1 8I?
(1 1.6 ¢ @038 M 16 2)0.8
(3 0.2 @ 3.2 (3) 0.2 4) 3.2
(5) Question not attempted (5) SIFART W4T

51. The correct decreasing order in their acidic 51 refofag Yooal @ SR wgER BT 98
behaviour of the following alkynes is - el 9 S — '
(1) CH>—C=C-CH3>HC=C-H > CH3-C=C-H (1) CH;-C=C-CHs> HC=C-H > CH;-C=C-H
(2) CH;-C=C-H > CH:—-C=C-CH3> H-C=C-H (2) CH:-C=C-H> CH;-C=C-CH3> H-C=C-H
(3) H-C=C-H > CH;-C=C-H > CH;-C=C-CH3 (3) H-C=C-H > CH;-C=C-H > CH3-C=C-CH3
{4) CH;—-C=C-CH3 > CH;-C=C-H > H-C=C-H (4) CH;-C=C-CHz > CH:-C=C-H > H-C=C-H
(5) Question not attempted (5) IR e
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52. Match the Column-I (Molecule) with Column-I1 52 Bieri—| (31]) & Biew—II (M) ¥ gAferd

{(Shape) and select the correct code —
Column-1 Column-11
(Molecule) (Shape)

@) SO, (a) See saw

(ii) -SF; b) Square planar

(i) BrFs (c) Bent

(iv) XeFq4 (d)  Square pyramidal

Correct code is - ,

(1) i-c, ii-a, iii-d, iv-b  (2) i-d, ii-c, iii-b, iv-a
(3) i-b, ii-c, iii-a, iv-d  (4) i-ayii-b, iii-c, iv-d
(5) Question not attempted

(CH,C00), Mn
53. 2CH, —CH, +30, ——> [X] 53.

A

The major product [X] formed in the above
reaction is -
(1) HCHO (2) CH;0H
(3) CH:COOH (4 (CH3)3—C—OH_¥
(5) Question not attempted _

54. The type of hybridisafion in [Co(NH3)s]** ion 54
is -
(1) sp’d® (2) dsp?
(3) sp’d (4) d%sp?
() Question not attempted

55. The most stable structure of CIFs molecule is -

(M. F @ r l
» F
F
3) F @ g
A F
1

(5) Question not attempted
96. Peroxide effect in alkenes proceeds via which 56
mechanism?
(1) Free radical chain mechanism
(2) Nucleophilic addition mechanism
(3) Electrophilic substitution mechanism
(4) Electrophilic addition mechanism
(5) Question not attempted

ﬂv

P T FE BT BT TIT BT —
Dl Bl
(@) (aﬂ‘ﬁ%r)

® 502 (a)

() SFs (b) mf RiE LS|

(i)  BrFs (© I

(iv) XeFq @ T RS

e Be & —

(1) i-c, ii-a, iii-d, iv-b () i-d, ii-c, iii-b, iv-a
() i-b, ii-c, iti-a, iv-d  (4) i-a, ii-b, iii-c, iv-d

(5) SIgRIRe U=
(CH,COO0), Mn

2CH, —CH; +30, ——————>

IX]

SWiT ARNERAT § 99 Tl 957 9iE [X]

M

3

: (1) HCHO (2) CH;0H

2 (3) CH;COOH (4) (CHs);-C-OH

(5) srgeiiRa wed
[Co(NHs)s]** 31N § Hepol &7 UHR & —
(1) sp*d® (2) dsp®
(3) sp’d {4y @’sp’
(5) ariRa w=A

5. CIF; & BT iR IR W¥EAT & —
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57. Increasing order of electronegativity values
(on Pauling scale) of elements C, N, Si‘and P'is-
(1) C<Si<N<P @ P<N<Cx<Si
(3) Si<P<C<N @ P<Si<C<N
~ {5) Question not attempted

58. The conjugate base of perchloric acid is -
(1) ClOs (2 cl04+
(3) Cl0y (4) ClOy
(5) Question not attempted

59. Which of the following set of quantum numbers
is NOT possible for an electron.of an.atom in its
ground state?

()n=3,1=0,m=0,5=+1

@n=2,1=1,m=-1s=+}

(3)n=331=2,m=1’s=—§

@n=4,1=2,m=-3,5=~1

(5) Question not attempted

60. A reagent which lowers the oxidation number of
an element in a given substance is -

(2) Drying agent

(3) Levelling agent . (4) Oxidising agent

(5) Question not attempted

(1) Reducing agent

61. Arrange the following in increasing order of
covalent character — NaCl, MgClz, AlCls
(1) NaCl < AlCls <MgClh
(2) MgCla< NaCl < AlCl3
(3) NaCl < MgClz < AICI3
(4) AICI; < MgClz < NaCl
(5) Question not attempted
62. The correct TUPAC name for the following

compound is —
H
| Il
CHy~ € —CH= CH~CH,—C—OH
&,
(1) 4 — Isopropylbut — 3 ~ enoic acid
(2) 5 — Methylhex — 3 - enoic acid
(3) 4 — Methylhex — 2 — enoic acid
(4) 5 — Carboxy — 2 — methylpent — 2 — ene

(5) Question not attempted

57. C, N, Si @en Paedi &) fgmroneisar & a1
(GifeiT wher UR) BT I G P € —
(1) C<Si<N<P (A} P<N<C<Si
() Si<P<C<N (4 P<Si<C<N

(5) orpaIRa W

58. WaAiR® a7 P AT 8R & —
(1) Cloy (2) Cl104+
(3) C10y (4) C104
(5) araiRa we

59. fall T B U@ TR @ Ry S
e % e § § wdiven demel &
BT W W T 87
(1)n=3,1=0,m=0,s=+§
(2)n=2,1=1,m=_1,s=+_:_,

(é)n=3,1=2,m=1,s,m—§.-

@n=4,1=2,m=3,5=—>

(5) 3R we 2
60. gz aiffesis o iR T verf # O aw @t
SATeRIIHRYT T e & —

(1) SUEaS Tore (2) I Yo
(3) wiafeiT T (4) STRNPRG YOI
(5) arg<iRa we

61. f=ifafen @ wEde® ol & ged A 4
aRerd ISy — NaCl, MgCl, AICIs
(1) NaCl < AlCl; < MgCh
(2) MgCla< NaCl < AlCh
(3) NaCl < MgClz < AlCl
(4) AICI; < MgClz < NaCl

(8) sreiinG wed

62. iy 1 %7 T UPAC 7 & —

N b
CHy~ C —CH=CH~— CH,—C—OH
.o |
(1) 4 — EFEMNRT FE — 3 — FAlgSd IR
() 5 — APeRE — 3 — TSP I
(3)4 — AR — 2 — SISH 3FA
(4) 5 — PEEET — 2 — AU ~ 2.— &

(5) argailRa g
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63. The reaction given bélow is an example of — 63. seiiferRas fifehr Semvor & —
al d
d Cl o] .
© . 5 Anhydrous . el © . 6 Anhydrous + 6HCl
Ald, , . ' Alg
a ot o a
d \ a
(1) Electrophilic Substitution Reaction . (1) seagiaerEl gierenes sl &
(2) Electrophilic Addition Reaction iz @ SRS NS SIFAEsT &7
(3) Free Radical Addition Reaction @E (3) IRT Helep ARTIAS AfAfehar oy
(4) Nucleophilic Substitution Reaction (4) TR iR s &t
(8) Question not attempted (5) srgiRa we

64. A small loop of wire of area A=0.02m%, N=50 64 A = 0.02 m?85%e, N =50 BY 99T R= 10 O
turns and resistance R = 10 Q is initially kept in URRE &7 IR &1 TEH Bl X uNy H T
a uniform magnetic field B in such a way that the THEHEM GRS &89 B # 59 YR &7 7l
magnetic field is normal to the loop. When it is e DI & T4 D e BT 81 99 39
pulled out of the magnetic field, a total charge of FRIGI &7 I 9188 Eial o T & @+ ol
Q = 2 x 107°C flows through the loop. The A Q =2 x 10°°C YaiRd axm & THB
magnitude-of magnetic field B is - &5 B %7 gREm & —
o5x10T @4xi0tT (1) 0.5x 10T (@ 4% 10T
(3) Zero @) 2x10*T (3) 71 @25 104T
(8) Question not attempted (5) sraRa T .

65. An object is dropped from a height -of 45m. 65. v g BT 45m S I PRET o 2 e
Another obiect is thrown downwards with a;\tra TR B, Ugall TE] 7 iRm @& 3o
velocity ‘w’, just after 2 second of the release of 2 GPUS 918, ‘0 9T ¥ 9 9 ok BT oy
the first object. If the two objects r‘eiaf'h_the £ g 91 TRY S TR TF A TEad &
g&lg;li(ﬁcﬁl;gg,) then the value of ‘v’ is A w BT AN S — (g=10 m/szaﬁi?rm)

(1) 22.5 m/s (2) 90 m/s” ) 225 m/s (2). 50 mv/s
(3) 40 m/s (4) 457 m/s (3) 40 m/s @) 45v2 mys
(5) Question not attempted (8) SrgeTRe W

66. An object of length 2.0 cm is placed 66 2.0cm St TH T, 12em WEA X D wH
perpendicular to the principal axis of a cenvex ST oG B =] e & Slgaq @l 2| Cis g
lens of focal length 12cm. The object is at a d 8.0cm T W B, 49 —
cayance of &.0cii from thoens, then - (1) Wi W § T 6em ST BT B |

e image is erect and of size 6cm. S . :
(2) the image is inverted and of size 3cm. (@ 9 o IFl & I 3om ST T 8|
(3) the image is inverted and of size 6cm. (3) Ilﬁ"lﬁ's[ Egiilii' I & TR Gem ST 7 8 |
(4) the image is erect and of size 3cm. (4) YIS, e & T 3cm ST BT E
(5) Question not attempted (5) sT=IRT w=

67. A certain blood vessel has a diameter of 0.6 cm  67- T% ¥ wa qITT FT 2 0.6 I & @R
and carries blood with |an average speed Ig IS T 16 AL /APBUS | VR o W)
16 :lllnlsec. T}ll_e b;;?d veaslsﬁli brartlcheSfHStg two & | VR aifeet 0.5 W, B WA R aren &1
smaller vessels with equal diameters of 0.5 cm. R 3§ RRIR : :

Find the average- blood speed in one of the BIel o i : B SR E@IT:?[
smaller vessels. i ) ieiell % & o ¥ sifed vad =1 wa B |
(1) 5.55 cm/s (2).8 cm/s (1) 5.55 cm/s (2) 8 cm/s
(3)-11.52 cm/s {4) 16 cm/s (3) 11.52 cm/s (4) 16 cr/s'
(8) Question not attempted (5) srqaile uws
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68.

69.

70.

ABC is a right angled triangular plate of uniform
thickness. Iag, Isc and Iac are moments of inertia
about AB, BC and AC respectively, then -

A

(1) More information is needed to compare the
values of Iac,Tas and Isc

() Iac=Tec=1Ias

(3) Tac>Isc>Ian

(4) Isc<Isc<lan

(5) Question not attempted

Assertion (A) : A person with hypermetropi'a
can see distant objects clearly

but cannot see nearby objects

distinctly.

ReaSt;n (R): This defect arises either
because the focal length of the
eye lens is too long or the
eyeball has become too
small.

(1) A is false but R is true

(2) Both A and R are individually true and R is
the correct explanation of A

(3) Both A and R are individually true but R is
not the correct explanation of A

(4) A is true but R is false

(5) Question not attempted

Two wirés of the -same material and same length

but diameters in the ratio 1 : 2 are stretched by

the same force. The pétential energy per unit

68. ABC T&% UHHAM AICE B GHGIUY Hedr
@ 81 Ias, Isc WM Iac P AB, BC T
AC & R i Ml 8, T —

A

(1) Tac, Iag T Inc & &M & gorl ol & foig
AR GO B AEIDA ©

(2 Iac=Isc=1a8

(3) Iac>Isc > Inn

(9 Iac<Inc<IaB

(5) arfIRT U

69. aifieer (A): dE-gfe JAT Jw ¢ @i

R P! TR B WL G
uEar & afea Mee &l
TGN BT GEE o1 o4 Hehell
gl
BHRY (R) ¢
© & quRE BN A A
~ s & 984 BIC BN B DRY
S~ BN T
(1) A¥TeTd & @ifd R 981 8
(2) A W= R SFI Sel—oel O & aell
R, A & OE AT &
(3) AT R TN M3 W & fed
R, A & O& @ TE 8
@) AWl & AfPT R Tod &

(6) srgaRa we

70. T g Ud AN ofWiE fbeg 1:2 S1gumd

3 @Tal drer aF aRl I TUF 9 gRT @il
ST 21 SF1 aRl 3 uiveie A Rerfist

g Y A1 1 A o P BIbd

volume of the two wires will be in the ratio - oIl P AU EFTT —
M2:1 24:1 M2:1 24:1
@ 16:1 #8:1 @) 16:1 @8:1
(5) Question not attempted (5) sFgaiRa wee
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71. The only force acting on a 2 kg body as the body
moves along the X axis varies as shown in figure.
The velocity of the body at x = 0 is 4 m/s. What

is the Kinetic energy of the body at x = 3m?
E.QV

4
\} 2 3 4

o |- ———t—x (@

-4 |

M43 (2) 207
(3127 4167
{5) Question not attempted

2. Two wires of same metal have same length but
their cross - sections are in the ratio 3 :-1. They
are joined in parallel. If the resistance of the
thicker wire is 20€2, the total resistance of the
combination will be -
M 100

(3) 40 Q

) Questlon not attempted

73. The potential energy of a particle is given by
U A — Bx* (where x is displacement). The
magmtude of force actmg on the particle is -
= (1) proportional to x?

(2) constant

(2) 28

(4} 150

(3) inversely proportional to x*
(4) proportional to x
(8) Question not attempted

74. In the overhead view of figure, a 300 g ball with
a speed of 6 m/s strikes a wall at an angle of 30°
and then rebounds with the same speed and
angle. What is the impulse on the ball from the
wall if the ball is in contact with the wall for

10 ms?
6m/s Smfs

30° 30°
(1) 1.8 Ns upwards

(2) 180 Ns upwards
(3) 180 Ns downwards

7. x 58 & IRY RN 2kg B @ =g |
BRBRI THAS 91 27 § ST SIaN ager
Blx=0 R T B T 4m/s ¥ x=3m |

T DI TRAIA oIl a7 87
X

4
\¥
0

-4

b= 13

Lo T ]
= B

J— x (m)

(@207
@167

(1247
(3) 127

(5) srIRa 9

2. T U1y 3 AN @ oIS wHE 8 feg oTe

IS BIS] FT IUR 3:1 & T FHRR
@ ¥ SieT Wl 2 | 3 A 9t AR &1 iR
20Q &, Tl | BT Fol TR & —~

M 100 (2)23_09

@20 @ 150

(5) e we
3. 75 77 B R il U=A-Bx? gR1 &
el B (ST x fveneT &) o ) e B
7ol g BT UNALT § —
(1) x* & \AUT
(2 faa .
(8) x> & HSHARURN
(4) x & Ay
(8 SrgaifT o
74. R & HO4 IR ¥ 300g P TP T 6 ms
B Al W T AR W 30° B 0T R THIA
g 7 R S @ 9 O S & B W
iyl gl 81 g W IR §RT AT @y g,
4f¢ g 10ms & o dOR & due § 87 -

6m/s Smfs

*s

30° 30"
(1) 1.8 Ns SR &1 8K
(2) 180 Ns SR I 3R
(3) 180 Ns il &1 3R

(4) 1.8 Ns downwards (4) 1.8 Ns <I9 9T 3l

(5) Question not attempted (5) srpaRa w== Giy
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75.

k!

A body is dropped from a height ‘b’ equal to %,

" where R is'the radius of the earth. The speed of

the body when it hits the surface of the earth will

‘be (in terms of escape velocity ve from the

surface of the earth) -

1) Ye 2) Ve
()«/E ()2
3 4) Ve
(3) ve ()\[§

~ (8) Question not attempted

75 go g B S B avreR G b ¥ e s

& e R el @ Brown ¥ oG A A, o
I8 g F uaE ¥ Il 8, BWi (gedt @

e W AT AT Ve B TGI W) —
1) Ye 2) Ye
()ﬁ ()2

(3 4) Ve
()Vc ()‘/_3_

(5) oIk WE

76. A wire elongates by ‘I° when a load ‘W’ is 76 U aR T ¥ fwaiRd 2ar ¥ 99 39 U@ 4R
hanged from it. If the wire goes over a pulley and W oleHREn Wl g1 A% R U R W
two weights ‘W’ each are hung at the two ends BB [ORAT § gor gue &N RRT W a1 4R

. respectively, then the elongation of the wire will e W’ wednl W § dl aR § SR
be - BT —
(1)1 (21 M1 (2) 1
2 2
(3) 21 (4) Zero (3) 21 (4) T
(5) Question not attempted (5) argaiRa u%

77. Tn a hydroelectric power station, the height of 77. uo Wa REgauida wem §, 9w @ SR
the dam is 10m. How many kg of water must 10 §ieXx 21 10 MW ﬁgﬁ IR ST BN D
fall per second on the blades of a turbine in 217 U AR & BBl W Ay Jovs fra
order to generat°e 10 MW of electrical power? et T R =RY? (¢ = 10 m/s? TR
(take g = 0 /s") (1) 5x 10°k (@) 10° ket
(1) 5 x 10* kg/s (2) 10° kgfs x 10° kgfs gls.

(3) 10‘4‘kg/s (4) 103 ke/s 3 10 kg/s 4 10° kg/s
(5) Question not attempted (8) ek 7 '
78. If the sum of two unit vectors is a unit vector, 78. gfX 3 THIs GRS BT AN UE RIS AGd B,
then magnitude of their difference is - S TH R BT URAIT B —
M2 () 3 (1.2 (2 3
(3) Zero (4) % (3) I @) :/1_5'
(5) Question not attempted (5) SrgIRa U
79. Which one of the following statements is not 79. fyfafag § 9 BT Bed wE a8 87
correct? (1) i 37 el B B & ot = iR o
{1) Terminal velocity depends on the square of # Tor a6 W o ST B
-the radius of the sphere and proportional to 3
the viscosity of the medium.

(2) With the increase in temperature the viscosity (2) 53 B v A9 e W uedl & Sl
of liquids decreases while if increases in the i B T @ 99 W FEdl ¥
case of gases. . (3) T B THIBIOT ST GRE0T Y mﬁ‘a

(3) Bernoulli’s equation is based on conservation 1

. cis a dimension] , (@) ¥fesw e e Refa i @ R

eynolds number is a dimensionless quantity :

whose value decides the nature of flow of a Wﬁ Twﬁ arE # ¥ 5 P g ol F@ﬁr il
liquid through a pipe. IR et gl

(5) Question not attempted (8) argalRa W
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80.

81.

The upper half of an inclined plane of i'nciination
¢ is perfectly smooth while the lower half is
rough. A body statts moving from the rest at top

comes back to rest at bottom. The coefficient of

friction for the lower half is -
(12 tang (2) cotd
(3) 2 cosp J4) sing

(3) Question not attempted
The potential difference across a conductor is
found to be V = (4 & 0.5) volt when a current of

I'=(1+0.1) ampere is passed. The resistance of
the conductor is -

(1) (4 +£0.90) Q 2) 4+050)Q
B) 4+025 0 4) 4 +0.35)Q
(5) Question not attempted

80. q:sgwm%@emaaaao—rmﬁm‘ﬁmq;uw

fopar & oraf WWW%‘IW
TR ST0 RR R RRM™RRT 9 7R gR 99
e R ® g ﬁ?mrawnﬁanmﬁ}%l

et ST @1 Tfor o & —
(M 2 tang (2) cot

- 3) 2 cosp (4) sing

. (5) IrailRa weT

81.

Th ot & RN 0R fawaR 'V = (4 £0.5)
diee UTw BT & el S = (140.1) TR
YRT Galed P SN & | reTed BT gfawe & —
(1) (4+0.90) Q (2 (4%+0.50)Q
(3) 41025 Q @.@+0350

"(8) SrRIRG ue

82 If velocity (V), time (T) and force (F) were  82- Ify 47 (V), ¥ (T) AT 91 (F) 3NN <3y
chosen as thie basic quantities, then in'terms of B WE T B SN §, @ 5o uer §
these the dimensions. of mass is given by - T B U 39 ueR & o € ~
() [m] =FTV-1  (2) [m] =FTV? () [m]=FTV" (2 [m] = FTV=
() fm] = F*TV-2 (4) [m} =FTV!" () [m] = FPTV2 (4) [m] = FTV-!

(5) Question not attempted ' (5) riRa w1

83. In a stationary situation the contact force by a 83 T Reryaven TRRYRY 3 v EERER] éﬁﬁﬁ NiE
rough horizontal surface on body placed on it has &N 39 W Y U I W AT T Gy
constant magnitude. If the angle between this el aReTeT § {99 &) 9 59 9e @ EEEIT?R'
force and vertical is decreased, then the frictional P A HIT HSRT ST, O a8 qer 9] C3
force between the surface'and body will.- - e TNOT g — :
(1) may increase or decrease - () 3g 4 gFar £ g O goar &

(2)’remain the same (2) FumEa B
(3} decrease @) T

(4) increase @) sem :
(8) Question not attempted (5) Sr=ie W

84. A block moving horizontally on 2 smooth 84 T& R WoE W 20m/s T TG § AR B9
surface with a épeed of 20 m/s bursts into two" W =edr B9 U&h =i |AM THHI $ &Y WY
patts of same-masses, continuing motion in the eI R RS oy
same direction. ¥ one of. the “parts moves at W E) R o ve W ) e 30 mis 3
30 m/s, then what is the speed of second part‘? o E;\‘T? B H'ZIT 39 _

(1) 70 m/s (2).10 m/s , '
(3) Insufficient (4) 30 m/s (1) 70 /s (2) 10 /s
information (3) i g (4) 30 m/s
{5) Question not attempted (8) argailka ww
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85. Consider a solenoid that is very long comparea 85..7s YRS R R o e dae sa9al

\5 to its radius. We wish to increase the magnetic
\ field in the interjor of the solenoid. To-do tliis we
have following choices - :
(A) Double its length keeping the number of
turns per unit length constant.
(B) Reduce its radius by half, keeping the.
~ number of turns per unit length constant.
(C) Overwrap the entire solenoid with an
additional layer of current carrying.wire.
(1) All choices A, B and C are equally effective
(2) Only the choice B is effective
(3) Only the choice A is effective
(4) Only the choice C is effective
(5) Question not attempted
86. Two solid spheres A and B, each of l‘adillS"R, are 86.

made of materials of densities pa and pm
respectively. The moments of inertia about their

e & gomT § B e g1 B s

| gRfET ® ae” gROIT 83 Bl 98 § o

e & —

(A) mwmﬁwﬁmmﬁ
& §Y 39D A S FE €1

(B) Ul tHie w8 A W} @ wedl

, O §Y 39E! Farer el 3 1)

(©) Fuel IRAIRTGT & HUN YREE AR B
1t IR Ra e !

() Rwea A, B w2 C.AH w&F w9 9
WIPRT & “

(z)mﬁmB‘a"rW%

(3) Badt APy A & AR B

(4) Fa fasey C & yEPN ©

(5) ar<ilRd U=

u@zﬁRﬁwzﬁa’raﬁmA@Bm

pa Td pp Tl & URRI 9§ T T S0 &AM

zbqﬁﬁaea“msgvfml;\@ln%iﬂqﬁ

diameter are I and Ig respectively. The ratio % 1 A % _
o o © (1) ear 2) o5
(1 es PA (2) P .\ (1) - ¥ ( E
(3) . @ [ E‘f @ ea @ J_pg
J_ \& Pe (f NPA
"(5) Question not attempted () stk W&
87. 87

Two vectors A= 2f+ 2 + ckand B=1+7+E&
are given, then find the value of ‘¢’ if the two

-vectors are parallel.
(M 4 (-4 ‘
. @) -2 : @ 2 ”

(5) Question not attempted

88. If the change in value of ‘g’ at a height ‘h* 88
above the surface of the earth is the same

as at a depth ‘d’ below the surface of the earth

(ford & h < <R), then -

@ | A=21+2j+ck AR B=i+j+k

o T ¥ afy IE |y geEmReE, a‘rcm

A T DI |

(1) 4 @ —
® -3 ' . W2
(5) argeiRe W !

Hﬁqﬁﬁwﬁw mls‘u? g s
A ¥ TRedE e @ wAE W A d T
wqﬁaéﬁa%we‘r(dah<<1z$m)
ar —

(1 d=2h @g=h (1) d=2h @ gt
. 2 2
@) d=h? (4)d=h (3) d = h? (@ d=h
(5) Question not attempted B rmRa g’ -
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83. Two ‘trains are moving with equal speed in 89 7 ¢ W WAFR Ved 299 @ argfasr R
opposite direction along two parallel. railway I | fAwa e & = <& &) af B ¢
tracks. If the wind is blo_wing witl-l'speed ‘o’ G 3F B T 98 & & v s @ 'ﬂTﬁ&T
along the track and relative velocities of the 34 B iR A @ ST 1:2 3 ar Hﬁ‘fﬁﬁ
trains with réspect to wind are in ‘the ratio St oY e & —

1: 2, then the speed of each train is - 4

(1) 4u @) 2u (1) 4u (2) 2u
(3 u 4) 3u B u (4) 3u
(5} Question not attempted (8) srgaiea ye

90. A convex lens and.a concave lens are placed in ~ 90- T% ST ol T U Iaqe ?RT e § G
contact. The ratio of the magnitude of the powers g Sel oY Ud oade o @t il &
Zf tI;e ;;)rge;; 131;; ;o tli;:: oﬁ tgllle concave 1lens is qREor &y U 4:3 ¥ A Sua o B

¢ focal length of the convex lens is e
12cm, then the focal lingth of the combination :;ET\!T_ T f2om & < @ @
will be -
(1) 54cm (2) 27cm (1) 54cm (2) 27cm
3) 36cm (4) 48cm (3) 36cm (4) 48cm
(5) Question not attempted | . ®) srgaRd w

91. What is the corfect sequence of DNA finger 91 TG, 3Tl BIO BT |El B9 FT 27
printing? | (A) TifsT STAT. G BT ARG
(A) Separat:ion\ of desired DN.A fragments by S-S BRI @ BRI Y[R

Afgaros.e ,-gel-el_ectrc.)pl.mrems . (B) Wgam TEIFITS ERT U .
E]é; ?lglefitlon I;}}r) I;e‘ztncuon Endonuclease %f C) ST, BT GO

solation o o .
(D) Hybridization with labelled VNTR probe D) \,V.NTR AR LA i
(E) Southerr blotting (B) e e
(1) BsDoEoASC (2 CoBoASDSE (1) BoD—E—-A—C () C5B—A—D—E
(3) CoB—A—SESD @) A—)B—-)C—)D——)E () CHB—ASE-D (4 AB—C—D-E
(5) Question not attempted (8) argaRa e |

92. Which of the following statements is not correct ~ 92- BIREEHM @& 9y §F Rrffag § § @
regarding Phytochrome? DU el T8l 87
(1) It has chromophore attached to the protein. (1) 539 UIdH 9 ST HIHBR B B
(2) It is a protein. " (2) 78 t& UIdH &

(3 Conjugation of double bond in chromophore. () Herr gerRl HEBR § F—dy B dgEE
is. a]tered by bIUe hght ufRafia o qar &4
\ (4) PHIPR YPGB q@IRT wwar 8 o
BIgCIp TRifHamell &1 R0 a1 2|

: ; (8) srgaa weH

93 Type of placenta found in dogs and cats is - 9. il AR fRifeeral & U_ ST aTel S1avT 1 ¥R |
(1) Diffused (2) Discoidal 8-

(3) Zonary {4) Cotyledonary W ﬁﬂﬁ ) famar
(3) HiEeh &Eg @) oo
b (5) Questlon not attempted (8) sriRa g
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94,

A normal girl, whose mother is ﬁéemophilic,

, marries a male who has no-ancestral history of

95.

96.

haemophilia.

(A) Haemophilic son and haemophlhc daughter
(B) Haemophili¢ son and carrier daughter
(C) Normal daughter and normal son
(D) Normal son and haemophilic daughter.
Choose the most: appropﬁate answer from the
options given below -
(1) (B)and (Cyonly  (2) (A) and (B) only
(3) (BYand (D) only (4} (A) and (D) only
(5) Question not attempted
Match the various Sub-stages of Meiosis in
Column-I to their Characteristic Features in
Column-II and select the correct option —
Column -1
(A) Pachytene
(B) Leptotene
(@) Diakinesis
(D) Zygotene
Column - 1II
(i) Pairing of homologous chromosoimes
(ii) Terminalisation of chiasmata
(iii) Gene crossing over takes place
(iv) Chromosomes are arranged in a bouquet
(1) A-(iv), B-(iii), C-(ii), D-(i)
(2) A-(ii1), B-(iv), C-(ii), D-(@)

(3) A-(i), B-(iv), C~(ii), D-(iii)

(4) A~(ii), B~(iv), C-(iii), D-(i)
(5) Question not attempted

Select the incorrect statement about Plant
Nutrition -

What will be the possible -
- phenotypes of their offsprings?

94.

95.

96.

T WA Asd, e A SRfdias € @
T 7oT § ) el B, vt Sl o
F1E S SRIer T8 & | 3 Wl & Heiaa
T TIRT IF BIN?

(A) ERifhiers de1 9 BFIbied o9t

(B) EMIfbTd 92T 7 IEF 9
(C)aFT= 91 G | §eT

(D) I 91 7 Miffae 98

aﬁgg g el ¥ § w99 Suged @l gAd

) BT @ Faa @ (A)T B) BId

(3) B)d D) Baal @) (A)T (D) Bae

(5) ar<iRa W

Frem—1 § & = H Ak

SU-waReme &1 elem-1 § Ry U ST
faftre @i @ O FBem R 98 o 2
g -

w1 -

X (A) Y
(B) @=IEH

(C) SBIEINE
D) m@ﬂ‘c"ﬁ

(111)‘Gﬁ7-[ ﬁTﬁTRT Efl?lT S

>(1v)wgaaﬁaﬁmgaaﬁaﬁs’rmﬁ%

(1) A-(iv), B-(iii), C-(ii), D-()

(2} A-(iii), B=(iv), C-(ii), D-(i)

(3) A-(i), B-(iv), C-(ii), D-(iii)

(@) A-(ii), B-(iv), C~(iii), D-()

(5) Sr<IRa we

ey 99 @ 9N ¥ SN HYH DI YA
BTy —

(1) Zn** is directly involved in the synthes1s of (1) Zn* UIE &7, ¥ T QETH THifed 3
hormone Indole Acetic Acid (TAA). (IAA) & doror A Wﬁ-‘lﬁ BT B |

(2) Molybdemim helps in nitrate reduction and (2) Wi, (gge JUEHET d  SEger
nitrogen fixation. Rerfimor § GeI& BN & |

(3) Manganese is enzyme activating metal of the (3) i, W—ﬁ?ﬁ $ Twallgq @1 Hﬁﬂﬁﬁm
Krebs cycle. 2151 BT B

(4) Boron is essential for Water Splitting @) §RF,  Yore . GTemw A Se-fadeE
Reaction in photosynthesis. - e @ AT SawS ©

(5) Question not attempted (5) SgaIRT U
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97. During muscle contraction, which of the 97- WGl Heme A fFrefofad § O fead vl
following has a strong affinity for actin? % Ui vae STHYYT BT &7
(1) Sarcolemma (2) Troponin I (1) \ArpierT (@) g1 1 (3S)
(3) Troponin T (4) Troponin C (3) griE T (@) (4) Zraifer .C (4
(5) Question not attempted (5) sraRa we : :

98. Antipodal cells are absent in which type of 98 IMGANRTEl ¥ 59 UeR & uRugg gt §
mature embryo sacs in Angiosperms? EINGCTICDINEAI rquiRerd @_Cﬁ a?
(1) Penaea type, Plumbago type (1) G SR, TR gaR

- (2) Plumbago type, Fritillaria type (2) TRl TR, Epfeeiar HeR

(3) Fritillaria type, Drusa type @) fipfeaiar garR, gHIHDR
(4) Penaea type, Drusa type (@) i g, gar yaR
(5} Question not attempted (5) IFEIRT U

99. Phaosomes in Earthworm are - 9. gy § BaaH BN &
(1) Thermoreceptors .(2).Photoreceptors (1) ar9aTE (2) yeTerTEl
(3) Blood glands (4) Excretory structures (3) o ufert (4) IS SR
(5) Question not:attempted (5) s aiRa u=H '

100. Who proposed the given slogan? 100. fer 771 AR fram weenifag fsa?
Global Warming : Global Warning .y TS G : TS i
(1) UNFCCC (2) OECD @ (1) UNFCCC (2 OECD
(3) UNCED . (4) UNEP - (3) UNCED (4) UNEP
(5) Question not attempted () argalRa e L

101 Lettuce, commonly known as ‘salad’, is a 101. ey, 59 99MaT: O & 99§ o
member of family - T &, 95 & Bfel —
(1) Solanaceae (2) Asteraceae (1) S 31 (2) gl o1
(3) Chenopodiaceae  (4) Brassicaceae @) IHIRSTR w1 (4) IRy B
(5) Question not attempted (5) SrgeIlRa we ‘

102. Which of the following is an example of Short 102 fye & ¥ ey oY A% TRy 37 SaTENer 87
Day Plant? (1) ST HRIREE (RTR)
(1) Brassica campestris (M.ustard) @) ST YerEad ()
(2) Raphanus sativus (Radish) (3) o aitfpRye (?T;IT)
(3) Saccharum officinarum (Sugarcane) @ der TR ( )
(4) Beta vulgaris (Beet root) g
(8) Question not atiempted (8) srgaifeT g : '

103. Which of the following is not a larval stage of  103. Fre=ifrRae & ¥ T wmat W R Telh
liver fluke? T o T8 B
(1) Trochophore (2) Cercaria (1) gPIBR (2) wxapRar
(3) Miracidium (4) Redia ORENIEIRuL) (4) R
(5) Question not attempted (5) Gilﬂ?lﬁﬂ TeT .

104. Woiker honeybee communicates information for 104 ¥ Al WM S $ WM 3
the location of food sources through - SR EHRT Feell § —
(1) Pheromenes (2) Waggle dance () oRART § @ T T |
(3) Markings (4) Body temperature (3 fForTed & (4) IRR & TUE Q
{5) Question not attempted (5) argaRa wee :
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105. Which is not correctly matched?
(1) Diplontic - Sargassum
(2) Diplobiontic - Chlamydomonas
(3) Haplobiontic - Batrachospermum
(4) Haplontic - Spirogyra
:(5) Qiiestion.not attempted
*106. Which one. of the following monomers form
biodegradable polymer?
(1) CH, = €H - CN and CHy = CH - CH = CH,

@ @— CH=CH,

and CHo=CH - CH =CH:
(3) HO— CHzCH;~ OH and

¥
HOOC-@— COCH

(4) NH>CH>COOH and NH2(CHz)sCOOH
(5) Question not attempted
107. Chlorine gas reacts with hot .and concentrated
NaOH, it gives -
(1) NaClO4, NaOCl and H.O
(2) NaCl,-NaClO3 and H,0
(3) NaCl, NaOCl and H,0
(4) NaOCl, NaClOs and H,0O
(5) Question not attempted

108. Among the following, the marrow spectrum
" antibiotic is -
(1) Penicillin-G (2) Chloramphenicol
(8) Amoxycillin (4) Ampicillin

(5) Question not attempted

(molar mass = 60 g mol™) and 18g of glucose

@molar mass = 180 g mol™) in 1000 mL of water
" at 27°C. The Osmotic Pressure of the solution

is —

(R =0.082'L atm K mol )

109..A solution is prepared by dissolving 0.6g of urea

105. iy gAfera &1 87
(1) Rwiifesd — aRiad
(2) fteERifes — wREESHAY
(3) fiErifes — dgmpada
(4) TAIfed — TSR
(5} arfailRa g
106. frieiRag & 9 @Y UG g SUEEH]
gD TN 87
(1) CH,=CH — CN d@2if CH,= CH - CH=CH:

@ (O)-cu=cH,

Tl CHy=CH -CH=CH:
(3) HO — CH,CH, — OH =17

HOOC COOH

,(4) NH,CH>COOH @2IT NH2(CH»)sCOOH
(5) TR T
107. TR 997 79 R i NaOH & wmer arfafesan
ISP T E —
(1) NaClO4, NaOCl 3iR H.0
.(2) NaCl, NaClOs 3iR H0
(3) NaCl, NaOCl &R H;0
(4) NaOCl, NaClOs 3fR H,0

L]

= §ER

(5) argaiivG we
108. Fyrfrfaa ¥ @, wal Wt wReifs § —
(1) SRRIRF-G (2). el TReBTer
@) wReRRE (@) YRR
(5) argaia we

109. 27°C qIq R, UF FeRF #1000 mL & 3
0.6g IRAT (AR FFAF = 60 g mol™!) T 18g
TP (AeR §EE = 180 g mol) HiddR
UOR far a7 | e &7 RRRY ¥ 8 —
(R =0.082 L atm K'! mol}j

W

N ' (1) 492 atm (2) 2.46 atm
(1)4.92 atm (2) 2.46 atm
(3) 1.64 atm (4) 8.2 atm
(3) 1.64 atm (4) 8.2 atm 5)
(5) Question not attempted 3 T {
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110. Haemoglobin is made up of four sub-units. Each
sub-unit comprises a Porphyrin complex haem,
which contains -

(1) Fe** bonded to two Nitrogen and two Oxygen
atoms,

(2) Fe** bonded to two Nitrogen and two Oxygen
atoms. |

(3) Fe?* bonded to four Nitrogen atoms.

(4) Fe** bonded to four Nitrogen atoms.

_ (8) Question not attempted

111. The rate constant of a first order reaction is
1.54x1073 57, its half-life period will be -

(1490 s (2) 450 s
(3) 550 s (4) 540 s
(5) Question not attempted

112. Match Column-I with-Column-II and se]ect the

correct code —

Column-I Column-I1
. (Compound) (Structure)
(1) XeOs (a) Linear
(i) XeOF, (b) Distorted octahedron
(iii) XeFs (c) Square pyramidal
(iv) XeF2 (d) Pyramidal
Correct Code is -
(1} (@)-(2), (i)-(b), (iii)-(c), (iv)-(d)
(@) (@)-(a), GD~(c), (ii)-(d), (iv)-(b) &

@) ©-), (ﬁi)-(d), (iii)-(b), (iv)-(a) -
(@) (D-(d), Gi)-(c), (iii)-(b), (iv)-(a)
(5) Question not attempted

113. Which among the following halide will

not produce a precipitate with AgNOs in
SN reaction?

(1) CHLI

(@ cH
™ CH—Cl
cH,”
(3) CH,= CH— CHyCl
(4) CH,— CH=CH~ CI
(5) Question not attempted
114. The number of fundamental vibrational modejin

g 2]

1M0. Eeraifed IR Su-Soisal § 1 2| wae
g;ﬁméﬁwmﬁawﬁqwﬁa%

(1) Pe®* <1 wggie ik o1 sifedior oAl
GEEERS
(2) Fe?* @1 *TggIorT 3N I Sffoitort aeamee
GECIECRS
(3) Fe?* TR AR ARl ¥ g 2
(4) Fe** OR -ggor owaeRl 9 9 2
(5) 3aIRT ueA
111-Qiﬁnma%ri%aqﬁao—mmﬁwﬁﬂw
1.54x103 57! &, SHBI SE—ATT FiA BT —

(1) 490 s (2) 450
(3) 5505 {4) 540 s
(5) TG U=

112-W—I&ﬁfﬁm—nﬁ§ﬁrﬁaﬁﬁmﬁwv€r
Be B TIT DI —

¢ eI BieH—II

! (i) (E=)

() XeOs (a) W&

(i) XeOF4 (by T srcwem
(iii) XeFs (¢) T fRifada

(iv) XeF2 () frfda

WS e & —

(1) ()-(a), G)-(B), (iii)-(c), (iv)-(d)
(2) (i)~(a), (ii)-(c), (iiD)-(d), (iv)-(b)
@) @)-(c), (D)-(d), Giii)-(b), (iv)-(2)
@ ()-@), G)-(c), (ii)-(b), (v)-(a)  *
(5) srIRa ww
113. f=folaT Samset § 9 ST, AgNOs D I
SN affssar #.am@8g T8l g=g?
(1) CHLI
@ cu
S cH—a
cn,”
@) CH,;= CH—CH;~Cl
(4} CH,— CH=CH—ClI

(S)Haﬂﬁﬁ ERS|

.114-H28ﬁWW%Eﬁ'\H@T'§—

HaS is - 1 2 !
g @ 3 (1) 6 23 .
(39 @ 16
39 4 16
{5) Question not attempted (5) SrgeTive 5= ,
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115. The Cell Potential value of the given cell will
be —
CriCr* (0.1M)IIFe?* (0.01M)IFe
(Given E° Cr**/Cr = -0.74V, E°Fe?*/Fe = -0.44 V)
(1 052V (2) 030V U
3120V @026V
(5) Question not attempted

Py
&

116. On hydrolysis of one mole of maltose, two moles
of D-glucose are obtained. These two glucose
units are linked together through oc-glycomdlc
linkage between -
(1) C-2 of unit one and C-4 of another unit
. (2) C-2 of unit one and C-3 of another unit

(3) C-1 of unit one and C-2 of another unit -

(4) C-1 of unit one and C-4 of another unit

(5) Question not agtempted

M7.In which of the following pairs, the EAN
(Effective Atomic Number) of central metal
atom is not same?

(1) [Cr(NH3)¢]3* and [Cr(CN)4]3~
{2) [Fe(CN)¢}?~ and [Fe(NH3)¢]**
(3) [Ni(CO),] and [Ni(CN),]*~
(4) [FeF]3~ and [Fe(CN)4]?~
(5) Question not attempted

118. Among the following, positively charged sol is -
(1) Haemoglobin (2} AS>Ss
(3) Gelatin (4} Gum
(5) Question not attempted

118. According to MOT (Molecular Orbital Theory)
C» molecule has -
(1) 1% bond only
() 1 o and 1 wbond
(5) Question not attempted

120. A sample of gas occupies 100mL at 27°C and
740mmHg -pressure. At what temperature
volume of gas will be 80mL at 740mmHg

> pressure?

(2) 16 bond only
(4) 2 7 bonds !

LY

§
= ;E IE

115. R v I & A T ST 74 9T —
CriCe** (0.1M)IIFe®* (0.01M)IFe
(e wrar & E°Cr3*/Cr =-0.74V, E°Fe*/Fe=-0.44 V)

(1) 052V @030V
@) 120V 4026V
(5) SrRIRT we

115-W$W%$WWWD—W
D oI 9 U B 81§ 9 O gl

TR A EW T g A G
?a‘cﬁ g —
(1)Qzﬁs$|s‘afrc-2§:ﬁﬁsaaréa%c4ﬁ
(2) UF SHE BT C2 A sH1s & C-39
(3) U& TS o1 C-1 58 3318 & C-29
@) T g &1 C-1 30 §BE & C4 9
(5) A=IRS W3
7. ol 4 4 9 e, 3519 91g v
B EAN (Wl oRerodia e e e 87
(1) [Cr(NHz)g)** I [Cr(CN),]*~
(2) [Fe(CN)g]3~ @am [Fe(NH3)e)3t
(3) [Ni(CO),] T=IT [Ni(CN),]%~
(@) [FeF,]3~ @I [Fe(CN)6]3"

(5) rg=ilkeT ueA
18, fi=foled 4 w4, o Imal| dfd & —
(1) SMrafes (2) AS2S3
(3) Rretfes (@) g
(5) srgalRa e '

119. S ers RIgia (MOT) & NR C; 31
¥ BT —

() Bgat 1 wder () Baer 1 o8
@ 1oaindy @ 2xd
(8) ar<IRa U=

120 g5 9t 1 W1 27°C @ 740mmHg T W
100mL g B_ar § | {5 o9 WR, 740mmHg
TH W 4G P a9 80mL B STe?

(1) 240°C (2) 33°C
(1) 240°C (2) 33°C o .
89.5°C 21.6°C
(3) 89.5°C @ 21.6°C * i
'(5) Question not attempted ¥ (5) arRIRT W
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121.

122,

124.

125.

For a driven harmonic oscillator, if the drivihg
frequency is negligibly small and the damping is
low, then the ampﬁtude of the oscillator is
controlled by -

(1) mass and damping both

(2) mass only

(3) force constant

(4) damping only

(5) Question not attempted

If the ground state energy of a particle in a one-
dimensional infinite potential well of width L is
equal to the energy of the second excited state in

another one-dimensional infinite potential well

of width'L, then the ratio Lo/Ly is -
M3 (21
33 49

(5) Question not a(;térnpted
123.

A proton is composed of the following quarks -
(1) two up quarks and one strange quark

(2) two down quarks and one strange quark

(3) two up quarks and one down quark

(4) one up quark and two down quarks -

(8) Question not attempted

Three infinite plane sheets carrymg uniform
charge densities -, 20, 3¢ are parallel to the
x-z plane at y = a, 3a, 4a respectlvely. The
electric field at point (0, 2a, 0) is -

(1) 82, . {2) 2o
2 ) e )

3) -:‘;']‘ (4) _S—ZGT
0

(8) Question not attempted

The life time of‘'muon at rest is 2ts. A muon is
travelling through the laboratory at three fifths
the speed of light. How long does it last?

121.

122,

123.

124.

125,

AMGRT T w9 § oY T e I B,
o Qe a1 s Tl far amar & —
(1) 5=\ G 3[9¥eq el @ ERT

(2) I TEH B NI

(3) sa Faeid gt

{4) BaeT AT P ERT

(5) argaRa ue '

e LidieE & w6 vo-Rd s fave g
T A ol wR J 5l B B FHolt Ly e
© TP I (- oFa v qu 41 Rdw
Gﬁmmaﬁmzﬁws’r ar ST
Lo/Li & —

M 3 (2 1

(33 @9

(5) SrgaIiRg we ) :

U HIeh FrefoRed wame! § s —

(1) 37 o9 T 3R 16 WY @D

(@) 1. 3187 T AR T WA TP

(3) 3r 31T TS 3R UF SreT D
(@wmwﬁ%ﬁwaﬂﬁﬁ

(58) srgRiRa wen

W =T T FIeY O R UHGEE S
U -0, 26, 36 § x-z G0 B GHARR AT
y=2a3a,4a e &g (0, 22, 0) N fega &=
3

2o @ 2
@ 25 (4) -20;
. =]
5) Eﬂﬂﬁﬁﬁ_ PECH

T G BT RM H amge 2us ¥
AT TN H UST 9 A & o 9e
i W & wiewE ¥ T feaw v aw
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(1) Insufficient 2 4.8 us Siifad Igr? ,
information . (1) soie e (2) 4.8 us
(3) 2.5 ps 3.6 us @) 25ps 4 3.6 us
(5) Question not attempted (5) SrgaiRe e '
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126. In the smgle slit diffraction pattern the 1ntens1ty

127.

128.

of the first maximum is -

(1) 1.24% of the intensity of the central
_maximuam.

2) 496% of the inténsity of the central
maximum.

(3) 0.62% of the mtensu;y of the central
maximum. ' _

(4) 2.48% of the intensity of the central
maximum.

(5) Question not attempted

The efficiency of a Camot engine is 40%. The

temperature of its sink is 27°C. What should be

the change in the temperature of its source so that

the efficiency becomes 50%?

(1) 200K (2) 100K

(3) 273K (4) 373K

(5) Question not attempted

A point charge +q is placed at the midpoint of a

Gube of side L. The electric flux emerging from

the cube is -

(1) sqL? (2) 1
€g ) o
) @
’ 6gg : 6L2 £g

129.

130.

(5) Question not attempted

Assertion (A) - Nicol prism is used to produce
and analyse plane polarized
light.

Reason (R)- Nicol prsm rteduces the

intensity of unpolarised light to

zero.

(1) Both A and R are individually true but R is
not the correct explanation of A

(2).A is true but R is false

(3) A is false but R is true

(4) Both A and R are individually true and R is-

the correct explanation of A
{5) Question not attempted

o
The position vectors of two masses of 6 gm E 130.

2 gm are 6i—7] and 21+10j—8k ,
respectively. Find the position of the centre of
mass of this system.

126.

127.

128.

129.

e e fdada gfoed 4w Sfas @
dadTr —

(1) =it Sfears & <fam A 1.24% Bl T
(2) =i Sas 3 dear & 4.96% B 2|
(3) Bt SRS ) T A 0.62% B ¥
(@) =i Sfess &) e B 2.48% B B
(5) SrgaRa U

TP BT O B e 40% B SOB Riw @
T 27°C B | 5999 Bd @ 19 § fbawr uRad«
T S A1 TEET 2T 50% B w7

(1) 200K {2) 100K

(3):273K (4) 373K

(S)aﬁﬁﬁﬁm?f
Lﬁwzﬁwma%ﬁwﬁr—gwwﬁﬁm
+q &1 e B | ¥ Tl fem voew € -

(1) sqL? 22
3 9 @)
580 GLZ‘ED
(5) srgaiRa e
T (A) - Fola o7 &1 ST wwaa

|
R (R)— Tl e sfeg somr @t
e BT I PR AT B
(1) A 92 R Q] -3 90 & oifde R,
Aaﬁﬂﬁmﬂﬁ%

(2) A W &' fb R 3% ©

(3) A % & o R W &

(4) A 92 R SFI SIeR—31elL. 99 & 3R R, A
P GE IR B

(5) srgaiRer W

6gmTAT 2 gm® T s 3 Rufy |y

I 61— 7] 7o 21+ 10) -8k B gH aH B

TEEH B P Ry F| S|

M 101 - 55]—4k () 8 — 15,5 + 4k () 101 -55]—4k @ 81— 155]+ 4k

() 51—2.75—2k @) 41— 7.75] + 2k (@) 51—275] -2k @ 41—7.75)+ 2k

(5) Question not attempted (5)-313.?1% RS :
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131,

132.

133.

134.

135.

of a Lecture—cum

-The main ~purpose

Demonstration Methiod is* -

(1) to provide detailed- Jectures w1th0ut any
practical demonstration:’ '

(2 to cofivey information ~ and stimulate
conversation. ‘

(3) to -deliver augmented lecture by use of
demonstration.

(4) to emphasise more on theoretical rather than
real examples.

(5) Question not attempted

What is a ‘blue print’

evaluation?

(1) A method for grading students’ exam. ~

(2) A criteria decision of policy, which is

in the context of

reflected in the design of question paper and

translated into action.

(3) A detailed lesson plan to improve learning.

(4) A record of student performance across the
subjects.

(5) Question not attempted

Which of the following is not mcluded in

National Curriculum  Framework 2005

guidelines? :

(1) Ensuring that learning is shifted away from
rote methods.

(2) Making examinations more rigid and based
on classroom instructions.

(3) Connecting knowledge to life outside school.

(4) Enriching curriculum to provide overall
development of children.

(5) Question not attempted

The forms and display-objects made by the
teacher himself or with the help of students based
on real objects, are called -

(1) Audio Aids (2) Improvised
Apparatus
(3) Visual Aids (4) Audio-Visual Aids

(5) Question not attempted

Which of the following is not an objective of an

ideal lesson plan?

(1) To enquire the achievements of-all objectives 2
in evaluation

(2) To present the subject-matter in a logical "

order

(3) Making effective use of subject period

(4) Any kind of compulsion in selection of
learning. activities

(5) Question not attempted

131.

132.

133.

R —Te—Yse A & g=g e § -

(1) B¥ ARG Saexy R fFr fawga
T UG &R |

(2) SN <41 U9 Haig & URa BT |

(3) UETE & SUART §RT Halid @ oA |

(4) TRIRE el @ e dEie W
ARF AR <7

(8) e I

ST P Ged | ‘fie | 87

(1) faenfial & e & o AT &1 TR

(2) 7o v Wy | uRafd iforra folay o
TP ARTH ¥ B H gRafkid SR

(3) W ¥ guR g 9 fIwga e de|

@) favgi & ey B e o1 6 Reie |

{8) IR weA

Frafatag § 9 99 asia ugueal S

2005 %! fEen Ader 3 wfye a8t 82

() & & WPl 9 T BT T BT

- (2) gemett B AT FOR SR wET REr w®

134.

135.

SERT BT
(3) I B e & qEY @ oflaT & S|
@) 9= & T o™ @ for TegsH o Wg
BT |
(5) e e
TR w9 a7 [ReEnfial @ gear ¥ aafde

B, O FEaR § —

(1) s SueoT (2) SRR SR
(3) g3 TURR " (4) ST BRI
(8) argaRa = |

fr=foad § § SI99r U g Uis AT 6l
TeTg E 87

m(ﬂw'ﬁh—rrﬁwﬁe‘éﬁaﬁmﬁﬁa

. SECAS
(2) Ryg—a=g @) aildd B9 T T B

(3) Ry BIefie & TG BT T ST B
(@) IRr™ fpael & w9 § 5N yer &
SfearRiar

(5) SrgeiRG e

44 -
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136. Which of the following factor is essential in a 136
Constructivisf Approach?
(A) Students should become self-regulatory :
and self-aware of learning.
(B) The teacher should serve primarily as a
facilitator not an instructor.
Select corrzct answer using the code given

below -

Code -

(1) Neither AnorB (2) Only B
(3) Aand B (4) Only A

(5) Question not attempted
137. Learning objectives of Science téaching should 137
reflect on which of the following? :
(1) What are the learning resources available? .
{2) What the learner will do rather than what the 3 ﬁ
teacher will do?
(3) What has the teacher planned for the class?
(4) What do the textbooks narrate?
(5) Question not attempted
138. A teaching method in which students are given 138
the opportunity to discover a rule or principle on
their own -
(1) Laboratory method (2) Inductive method
(3) Lecture method (4) Project method
(5): Question not attempted
139. Which of the following subjects are co-related to 139
obtaining minerals, rocks and metals found in the
ground, analysing their composition and
studying the temperature and-pressure etc.?
. (1) Agricultural Science, Mathematics,
Chemistry ' .
(2) Agricultural Science, Physics, Biology
(3) Geology, Chemistry, Physics
(4) Physics, Health Science, Geology
(5) Question not attempted
140. Science is considered Tentative because - 140.
(1) It can make predictions. ,
(2) Scientific knowledge is open to revision
based on new evidence.
(3) It depends on random guesses.
(4) It gives absolute truth.
(5) Question not attempted

e § O PE FRE wmcﬂm'\atu*iﬂ

& ford aazas 89 |

(a) FenfRi o S &9k Gﬂﬁ-'l——ﬁﬂa?ﬁ
Td ARH-SIATE® B AT

mmwmmmﬂw-ﬁaw
g.-}_

(ﬂ?ﬁhAaﬁ-\r:n'é‘rB (2)Hasr B

(3) AR B (@ydaa A

(5) 3FpEiRa weA

R Rrror & afrm st o Hefaiaa |
¥ 5 R am < R

(1) BIRT AT HEA SUeT &7

A (2) Rers & o 3 gorg et |1 e

(3) frerss =1 T & ford @ Aror w+1g €7

(4) yreageS! o T garn @ 87

(5) aaiRe we

a1 RIgFT o @ $7 rger f&dr oar @ —

(1) yiemer A (2) o Al

(3) sreE fafere (8) gk faf

(5) argaIRe ue

9 § 1 WM 9o @, geEl, Orgei @

TN 1% BT A B A oy vl

HT HE-HeY &7

() i R, T, e R

2 3y =, e e, ofe fsm

(3) g5, xarde fagm, Adifve fagm

(@) «ifE s, Wﬁﬁﬁ T

(5) SrRIRT g

(1) g5 wiasgarf X webar & |

(2) ISP A AT R @ SRR W e
& g ga 3

(3) 75 IgRed FgaFl IR IR o g1

() T Yol T o B

(8) 3rgailRa wA
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141. The Mercedes Model (Gallagher) emphasises on:  141. aR¥gier #fsal @omR) fase @

142.

143.

144,

145.

three aspects of teaching and learning of Science,
which one is not applicable?

(1) Building a Knowledge base

(2) Test and Evaluation

(3) Generating Understanding

(4) Finding Applications

(5) Question not attempted

Which of the following type of tests are intendéd
to obtain marks and grades that are relatively
uninfluenced by the subjective factors?

(1) Essay Type Test ,

(2) Short Answer Type Test oy
(3) Oral Test '

(4) Objective Type Test -
(5) Question not attempted .

Which of the following primary factor affects the
selection and organization of curriculum?.
(1} Evaluation

(2) Teacher - :';E
. . Na L.

(3) Guidance and Counselling

- (4) Supervision and Administration :

(5) Question not attempted

The necessary statement to determine the
obtainable objectives of Science teaching is -

(1) Psychological theory based

(2) Classroom teaching based

(3) School program based

{4) All subjects based

(5) Question not ‘attempteti"

Which of the following is not the key role of a
Science laboratory?

(1) To gdin an appreciation of Science.

(2) To awaken curiosity about the world.

(3) To inculcaté process skills of Science. ~

(4) To increase the number of scientific facts:
o :

they can memorize..

-

(5) Question not attempted

142,

143.
- TG Td IS P UMIST Bt &7

4

144,
. IATeIF BT & —

it

145.

dres & OF Tsgel W SR T ¥
BT TP o TE 87

(1) 9 & R P71 fomior

(2) e T Heuie

(3) wHeT e B

(4) SFYANT BT T4l ST

(5) arg<IRT U

Frefaia # 4 BN WBR @& IKe0 B 9eey
Qﬁm@ﬁsmmévﬁmm
H ISP SwIfaT vedr 87

1) FeErEs wRigor

(2) <Tg STRIHDH YRETT

(3) iRaes wegor

(4) gegfIss TteoT

(8) orgaRa W
ﬁﬁ%ﬁaﬁﬁﬁaﬁﬁmmwﬁrﬂw

(1) Fearem+
2)Rrerw

- (3) e v et

(4) TeicEroT Td gemae
(58) s v

(1) s figra smnRa

(2) warTa e R

(3) faerer SrdHa smEnla

(4) T fawal wR amenia

(5) argaiRa e

Frff % 9 @ Rem TIRTEE Bl

| T AT e 57

(1) fa=m=r o weien wie S|

(2) g & IR # fo=ren B ST BT
(3) A== & ufshar Biee &1 QBN wRe |

@ 7 Rrm dofe @l o I% =X wed &

(5)313,\_'@?[?3?{
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146

147.

- Why should co-curricular activities be organised

in the school?

(a) It helps in the justification of fee collection.

(b) It helps the institution to get fame.

(c) It helps in the overall development of child.

(dit heips students to develop interest in studies.

Select the correct answer from the code given

below -.

(1) (c) and (d) (2) (a) and (d)

(3) (2) and (b) (4) (b) and (c)

(5) Question not attempted

Which ‘of the following best describes the

purpose of the Problem-Solving Method?

(1) It focuses on theoretical concepts av01dmg
practical application.

(2) It emphasizes on practical knowledge which
leads to wrong conceptual understanding.

(3) It makes learning more dull and boring.

* (4) It allows children to-solve scientific problems

148.

149.

150.

independently or by guided approach.
(5) Question not attempted

Which of the following is not academic bénefit

of field trip in Science?

(1) Helps in providing practical experience to the
learners. -

(2) Encourages sharing responsibility for chlld’
learning with community.

(3) Relate the community to learners in Science.

(4) Allows students to skip lesson without
academic benefits.

(5) Question not attempted

What characteristic of a good test ensures that it

is free from bias?

(1) Validity (2) Simplicity

(3) Reliability (4) Objectivity

(5) Question not attempted _

‘Which of the following activities is conducted by

Science club?

(1) Organizing games and sports activities

(2) Organizing literary activities

(3) Organizing Maths quizzes

(4) Organizing Science fairs and quizzes.

(5) Question not attempted

146.

fenag 4 ugE=al e TRfREt

ST & ST ifRe?

(a) g@'mwa@aﬁﬁw#ﬂmm
) _

- (b) I8 9 % uRifg um § gerar exar 21

©) ?Wﬁmﬁﬂwﬁ?ﬁmﬁmw

. (d) I giadl ¥ e ¥ oy fIeRa e

147.

148,

149.

150.

-(8) srg=iRa

H AGS BT B
ﬁ%ﬁﬁnﬁaﬁﬁﬂﬁwmﬂaﬁm—
W@W@  {2) (a) 3R (d)

@) (@) 3R ®) ) b) IR (c)
(5) agaRE W

ﬁw@r@ﬁﬁﬁaﬁﬂﬂw—wﬁ@ré
G BT FIY IATST GO el 27
(1) I8 e JquRIRT R AGeiRe YR
B FAR § SR 4T B
(2) I8 Tord STOURISH B PR B del
IEIR® MM W WK 3T &
(3)§g@r@ﬁaﬁmtﬁwwm‘lﬁﬁm
|
(4) gzt B IsNE THRRT BT WA WY 9
gqvhﬁhwﬁwmﬁaﬁwﬁrém
|

LS

e F & eivrar faems 4 &= g o

Jeildre amr TE-2?

(1) ffenPRi &1 @meER® orqwe W T A
HgE ol B

@ & W ¥ e @ 9 a9mn
. ReRr @1 gieaEa s

(3)ﬁi§ﬂ=r=‘-r'ﬁ§mraﬁ3ﬂﬁ1mmﬁm‘|%‘cﬁ%l

(8) feenRR @1 foem dafe e @ uel @)
Bﬁeﬁaﬁaﬂﬂﬁmﬁm%l

(5) IR W

UF 318 W@ B DI REar 98 T

T & & 98 @E 9 a0 E?

(1) e (2) |=erT

(3) e iiran (@) Fegfroam

(8) 3rgaRa. e

Fefaftad # 9§ i TARR o e e

ERT e 31 oI 87

(1) Wergmg TR ST M a7

(@) WiRiae TRRRET BT SR SR

(3) TIORT USRI BT ARG BT

) g Aal, iR YR BT Ao HT

(5) arpaRa weT
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